Historic, Archive Document

Do not assume content reflects current scientific knowledge, policies, or practices.



62.81 LIBERTRY

SPECIAL PRICELIST

TO PLANTERS

June Budded Peaches A Specialty

Fall, 1906, and Spring, 1907

GLENN CLIFF NURSERY

J. MARVIN MILLER, Proprietor

WINCHESTER, TENNESSEE.

Long Distance Telephone 50-4

REFERENCES:

Bank of Winchester

The Sprague Company

Or Any Business Firm in Winchester

Erxpess and Freight Office at Decherd, Tenn.

A FEW FACTS FOR YOUR CONSIDERATION

Situated as I am, in the Nursery Center of the South, where nature has blessed us with MANY advantages; we are now growing the BEST STOCK we have ever grown. While I can't boast of my long years in business, I do boast of my success. Three years ago I started with only 10 acres, all Peach, with nothing to offer but June Buds. Now I have over 50 acres with almost a full line for retail and the following list for Wholesale.

I AM TRYING TO DO AS I WOULD BE DONE BY.

It is with pleasure I hand you my THIRD ANNUAL PRICE LIST, which I hope you will carefully consider before you place your ORDER.

Write for special prices on larger lots.

GLENN CLIFF NURSERY,

J. MARVIN MILLER, Prop.

Winchester, Tenn.

All prices F. O. B.

Decherd, Tenn.

Always give shipping instructions.

STATE OF TENNESSEE, NASHVILLE, TENN. OFFICIAL CERTIFICATE NO. 10.

To Whom It May Concern:

This is to Certify, That in accordance with an Act of the General Assembly, approved April 20, 1901, I have on the 13th day of July, 1904, made an inspection of the Nurseries of the GLENN CLIFF NURSERY, at Winchester, Tennessee, and that I found the stock in these Nurseries apparently free from the San Jose Scale and all other insects and diseases of a seriously injurious nature.

This certificate is to cover only stock grown in the above named Nurseries, and becomes invalid after August 1, 1905.

State Entomologist

New Certificate Will Be Furnished With Shipment.

APPLE.

One Year on Branched Roots.

		Per 10	Per 100 I	Per 1000
4 to 5 ft., mostly whip	os	\$ 60	\$5 00	\$40 00
3 to 4 ft., mostly whips 50 4 00 30 00				
2 to 3 ft., all whips			25 00	
Ark. Black	Kinnard's Choice	Red Ju	ine	
Baldwin	Lady Delight	Red L	imber T	wig
Ben Davis	Mam. Black Twig	Stark		
Early Harvest	Maidens Blush	Staym	an Wine	Sap
Grimes Golden	Oscar Lee	Vossbi	urg Wint	er
Horse	Rome Beauty	Wine S	Sap	
Jonathan	Red Astrachan			

	Jonathan Red Astrachan			
	PEACHES, JUNE BUDDED. Special Varieties for Commercial Orchards. Per 100 Per 1000			
	3 to 4 ft., branched \$7 00 \$50 00 2 to 3 ft., branched 6 00 40 00 18 to 24 in., branched. 5 00 30 00 12 to 18 in., not branched 4 00 25 00 6 to 12 in., for lining out. 2 00 15 00			
	Greensboro Elberta Heiley			
	Crawfords Late Belle of Georgia Salway			
	PLUMS.			
On Plum and Peach. One Year from Buds.				
	Per 10 Per 100 Per 1000			
	5 to 6 ft., 3-4 to 1 in., well branched \$2 00 \$17 50 \$100 00			
	4 - 6 5 - 7 - 9 - 4 - 11 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -			

\			
	Per 10 Per	100	Per 1000
5 to 6 ft.,	3-4 to 1 in., well branched \$2 00 \$17	50	\$100 00
4 to 6 ft.,	5-8 to 3-4 in., well branched 1 50 10	00	80 00
4 to 5 ft.,	9-16 to 5-8 in., well branched 1 25 · 8	00	70 00
3 to 4 ft.,	1-2 to 9-16 in., branched 1 00 7	00	60 00
Red June	Abundance Hale		
Wickson	Burbank Gonzales		

APPLES.

Two-Year Grafts.

1/200		Per 10	Per 100	Per 1000
6 to 7 ft., 3-4 to 1 in.,	well branched	\$1 00	\$8 00	\$70 00
5 to 7 ft., 5-8 to 3-4 in	., well branched	80	7 00	60 00
# to 6 ft., 1-2 to 5-8 in	., well branched	60	5 00	45 00
$\int 3$ to 5 ft., whips and b	ranched	50	4 00	30 00
Ark. Black	King of Thom. Co.	Red Li	imber '	Twig
Baldwin	Kinnard's Choice	Rome :	Beauty	
Ben Davis	Lady Delight	Red A	stracha	n
Early Harvest	Mam. Black Twig	Red Ju	ine	
Grimes Golden	Maidens Blush	Vossbu	arg Wi	nter
Horse	N. W. Greening	Wine !	Sap	
Jonathan	Oscar Lee	Yellow	v Trans	

PEACH. One Year on Native Seedlings.

	Per 10	Per 100	Per 1000
5 to 6 ft., 3-4 to 1 in., well branched	\$1 50	\$10 00	\$60 00
5 to 6 ft., 5-8 to 3-4 in., well branched	1 25	8 00	50 00
4 to 5 ft., 9-16 to 5-8 in., well branched	1 00	7 50	45 00
3 to 4 ft., 1-2 to 9-16 in., well branched	75	6 00	35 00
2 to 3 ft., not branched	50	4 00	25 00
Belle of Georgia Emma	Sneed		
Chinese Cling Creensboro	Slapp	ey	

Chinese Cling Chinese Free Elberta Everbearing Mamie Ross Emma
Creensboro
Heiley
Indian (old fashion)
Levys Late

Slappey Salway Tinsley's October Wilks September